Start	Sem. 2	2018-19							
College Now									
Course	College	Similar Course at Shiocton HS	H.S. Credit	College Credit	Cost	Number of Students	Total Cost	Paid By	Approved
Digital Marketing 1	NWTC	None	1.0	3.0	\$480.00	1	\$480.00	District	Х
Developmental Psychology	NWTC/FVTC	None	1.0	3.0	\$480.00	2	\$960.00	District	Х
Medical Terminology	FVTC	None	1.0	3.0	\$480.00	2	\$960.00	District	Х
Certified Nursing Assistant	FVTC	None	1.0	3.0	\$480.00	1	\$480.00	District	Х
General Physics 1	NWTC	Yes-Physics	1.0	4.0	\$640.00	1	\$640.00	Student	
Introductory Statistics	NWTC	None	1.0	3.0	\$480.00	1	\$480.00	District	Х
Written Communications	FVTC	Yes – Written Comm	1.0	3.0	\$480.00	1	\$480.00	Student	
Financial Planning	FVTC	Yes- Personal Financial Planning	1.0	3.0	\$480.00	2	\$960.00	Student	
Principles of Accounting	FVTC/NWTC	None	1.0	3.0	\$480.00	3	\$1,440.00	District	Х
Intro to Money & Banking	FVTC	None	1.0	3.0	\$480.00	1	\$480.00	District	Х

Oral/Interpersonal	FVTC	None	1.0	3.0	\$480.00	1	\$480.00	District	Х
Communications									
Economics	FVTC	None	1.0	3.0	\$480.00	1	\$480.00	District	Х
IT Customer Service Skill	FVTC	None	0.5	2.0	\$320.00	1	\$320.00	District	Х
Computing Essentials	FVTC	None	0.5	2.0	\$320.00	1	\$320.00	District	Х
Computer Programming C++	FVTC	None	1.0	3.0	\$480.00	1	\$480.00	District	Х
Window Server	FVTC	None	1.0	3.0	\$480.00	1	\$480.00	District	Х
GMAW Techniques 1	FVTC	None	0.5	2.0	\$320.00	1	\$320.00	District	Х
SMAW Techniques 1	FVTC	None	0.5	2.0	\$320.00	1	\$320.00	District	Х
Weld Print Reading	FVTC	None	0.5	1.0	\$160.00	1	\$160.00	District	Х
Weld Symbols	FVTC/NWTC	None	0.5	1.0	\$160.00	1	\$160.00	District	Х
FCAW Techniques	FVTC	None	0.5	2.0	\$320.00	1	\$320.00	District	Х
GTAW Techniques	FVTC	None	0.5	2.0	\$320.00	1	\$320.00	District	Х
College Mathematics	FVTC	None	1.0	3.0	\$480.00	1	\$480.00	District	Х
Think Critically & Creatively	FVTC	None	1.0	3.0	\$480.00	1	\$480.00	District	Х
Robotic Arc Welding, Basic	FVTC	None	0.5	2.0	\$320.00	1	\$320.00	District	Х
Welding/Metal Fab Intro	FVTC	None	0.5	1.0	\$160.00	1	\$160.00	District	Х
Manufacturing Processes	FVTC	None	0.5	2.0	\$320.00	1	\$320.00	District	Х
Welding Metallergy	FVTC	None	1.0	3.0	\$480.00	1	\$480.00	District	X

NWTC NWTC NWTC	None None	0.5	1.0	\$160.00 \$160.00	1	\$160.00	District	X
IWTC IWTC	None		1.0	\$160.00	1			
NWTC		0.5	1		1	\$160.00	District	Х
l l		0.5	2.0	\$320.00	1	\$320.00	District	Х
	None	0.5	1.0	\$160.00	1	\$160.00	Student	
NWTC	None	0.5	1.0	\$160.00	1	\$160.00	District	Х
IWTC	None	0.5	1.0	\$160.00	1	\$160.00	District	Х
NWTC	None	0.5	2.0	\$320.00	1	\$320.00	District	Х
VTC/NWTC	None	1.0	4.0	\$640.00	2	\$1,280.00	District	х
VTC/NWTC	None	1.0	4.0	\$640.00	1	\$640.00	District	х
VTC/NWTC	None	1.0	3.0	\$480.00	1	\$480.00	District	х
VTC/NWTC	None	0.5	2.0	\$320.00	1	\$320.00	District	х
VTC/NWTC	None	0.5	1.0	\$160.00	1	\$160.00	District	х
VTC/NWTC	None	0.5	1.0	\$160.00	1	\$160.00	District	х
					Total Approved:	\$16,160		
\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\	WTC WTC/NWTC VTC/NWTC VTC/NWTC VTC/NWTC VTC/NWTC	WTC None WTC None VTC/NWTC None VTC/NWTC None VTC/NWTC None VTC/NWTC None VTC/NWTC None	WTC None 0.5 WTC None 0.5 VTC/NWTC None 1.0 VTC/NWTC None 1.0 VTC/NWTC None 1.0 VTC/NWTC None 0.5 VTC/NWTC None 0.5	WTC None 0.5 1.0 WTC None 0.5 2.0 VTC/NWTC None 1.0 4.0 VTC/NWTC None 1.0 4.0 VTC/NWTC None 1.0 3.0 VTC/NWTC None 0.5 2.0 VTC/NWTC None 0.5 1.0	WTC None 0.5 1.0 \$160.00 WTC None 0.5 2.0 \$320.00 VTC/NWTC None 1.0 4.0 \$640.00 VTC/NWTC None 1.0 4.0 \$640.00 VTC/NWTC None 1.0 3.0 \$480.00 VTC/NWTC None 0.5 2.0 \$320.00 VTC/NWTC None 0.5 1.0 \$160.00	WTC None 0.5 1.0 \$160.00 1 WTC None 0.5 2.0 \$320.00 1 VTC/NWTC None 1.0 4.0 \$640.00 2 VTC/NWTC None 1.0 3.0 \$480.00 1 VTC/NWTC None 0.5 2.0 \$320.00 1 VTC/NWTC None 0.5 1.0 \$160.00 1 VTC/NWTC None 0.5 1.0 \$160.00 1 TOTAL Total Total Total	WTC None 0.5 1.0 \$160.00 1 \$160.00 WTC None 0.5 2.0 \$320.00 1 \$320.00 VTC/NWTC None 1.0 4.0 \$640.00 2 \$1,280.00 VTC/NWTC None 1.0 4.0 \$640.00 1 \$640.00 VTC/NWTC None 1.0 3.0 \$480.00 1 \$480.00 VTC/NWTC None 0.5 2.0 \$320.00 1 \$320.00 VTC/NWTC None 0.5 1.0 \$160.00 1 \$160.00 VTC/NWTC None 0.5 1.0 \$160.00 1 \$160.00	WTC None 0.5 1.0 \$160.00 1 \$160.00 District WTC None 0.5 2.0 \$320.00 1 \$320.00 District /TC/NWTC None 1.0 4.0 \$640.00 2 \$1,280.00 District /TC/NWTC None 1.0 4.0 \$640.00 1 \$640.00 District /TC/NWTC None 1.0 3.0 \$480.00 1 \$480.00 District /TC/NWTC None 0.5 2.0 \$320.00 1 \$160.00 District /TC/NWTC None 0.5 1.0 \$160.00 1 \$160.00 District /TC/NWTC None 0.5 1.0 \$160.00 1 \$160.00 District